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English version 
Replace Table 18 by the following: 

Table 18 – Calculation of the useful part load efficiency 
Conditions of operation Heat input Cycle time (s)  Meas. Useful efficiency (%) 
1 30 % reduced rate Q Q2 n= ⋅0 3,  t2 600=  η2 ηu = η2 

2 Full rate 

n1 QQ =  1) t  Q  -  Q
Q  - Q1

1 3

1 3

180 600=   η1 u 100η

η

= ×
1

1 1 3 3 3

1 1 3 3

100
0 8 Q t  + ,  Q t  - P t

Q t  + Q t

s
  

 Controlled off Q3 = permanent 
ignition burner 

13 600 tt −=  Ps  

3 Reduced rate 
n21 3,0 QQ ⋅>  t21 =

Q - Q
Q 600 - Q 180

321

321   η21 

100
80

100
332121

3332121
21

u ×=
tQ + tQ

tP - tQ , + tQ s
η

η  

 Controlled off Q3 = permanent 
ignition burner 213 600 tt −=  Ps 

 

4 Full rate Q1 = Qn 1) t1 =
180 6001 22

1 22

 Q  -  Q
Q  - Q

  η1 

uη

η η

= ×
1

1 1
22

22 22

1 1 22 22

100 100 100
 Q t  + ( ) Q t

Q t  + Q t
  

 Reduced rate Q Q22 n< ⋅0 3,  t t22 1600= −  η22  

5 Reduced rate 1 Q Q21 n> ⋅0 3,  t21 =180  Q  -  600  Q
Q  -  Q

21 22

21 22
  η21 

100
 + 

 
100

 +  
100

22222121

2222
22

2121
21

×=
tQtQ

tQ
η

tQ
η

ηu  

 Reduced rate 2 Q Q22 n< ⋅0 3,  t t22 21600= −  η22  

6 Full rate 

Reduced rate 

Q1 = Qn 1) 

Q2 

t1 = measured value (see annex Q)  

t2 =
Q - Q

Q)t - (600 - Q)t - (180

32

3111  

η1 

η2 η

η η

u
100 100= ×

1
1 1

2
2 2 3 3 3

1 1 2 2 3 3

0 8
100

Q t  + Q t  + ,  Q t  - P t

Q t  + Q t  + Q t

s
  

 Controlled off Q3 = permanent 
ignition burner 

)(600 213 ttt +−=  Ps  

1) Qn is replaced by the arithmetic mean Qa of the maximum and minimum heat input for range-rated boilers.  
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Replace Table 19 by the following: 
 

Table 19 – Symbols and quantities needed to calculate the efficiency at part load 
Operational phases of 

the main burner 
Heat input 

kW 
Operational time 

s 
Measured values 

at 50 °C 

   efficiency 
% 

Full rate Q1 t1 η1 

Reduced rate Q2 t2 η2 

Reduced rate 
> 0,3 Q1 

Q21 t21 η21 

Reduced rate 
< 0,3 Q1 

Q22 t22 η22 

Controlled off Q3 t3 Standby losses Ps (kW) 
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Version française 
Remplacer le tableau 18 par le suivant: 

Tableau 18 – Détermination du rendement utile à charge partielle 

Conditions de fonctionnement Débit calorifique Temps de cycle (s) Mesures Rendement utile (%) 
1 Débit réduit 30 % Q Q2 n= ⋅0 3,  t2 600=  η2 ηu = η2 

2 Plein débit 
n1 QQ =  1) t  Q  -  Q

Q  - Q1
1 3

1 3

180 600=  
η1 

u 100η

η

= ×
1

1 1 3 3 3

1 1 3 3

100
0 8 Q t  + ,  Q t  - P t

Q t  + Q t

s
 

 Arrêt par régulation Q3 = brûleur 
d'allumage 
permanent 

13 600 tt −=  Ps  

3 Débit réduit 
n21 3,0 QQ ⋅>  

t21 =
Q - Q

Q  - Q 

321

321 600180
 

η21 

100
80

100
332121

3332121
21

u ×=
tQ + tQ

tP - tQ , + tQ s
η

η  

 Arrêt par régulation Q3 = brûleur 
d'allumage 
permanent 

213 600 tt −=  Ps  

4 Plein débit Q1 = Qn 1) 
t1 =

180 6001 22

1 22

 Q  -  Q
Q  - Q

 
η1 

uη

η η

= ×
1

1 1
22

22 22

1 1 22 22

100 100 100
 Q t  + ( ) Q t

Q t  + Q t
  

 Débit réduit Q Q22 n< ⋅0 3,  t t22 1600= −  η22  

5 Débit réduit 1 Q Q21 n> ⋅0 3,  t21 =180  Q  -  600  Q
Q  -  Q

21 22

21 22
 

η21 

100
 + 

 
100

 +  
100

22222121

2222
22

2121
21

×=
tQtQ

tQ
η

tQ
η

ηu  

 Débit réduit 2 Q Q22 n< ⋅0 3,  t t22 21600= −  η22  

6 Plein débit 
Débit réduit 

Q1 = Qn 1) 
Q2 

t1 = valeur mesurée (voir annexe Q)  

Q - Q
Q)t -  - (Q)t - (t

32

3111
2

600180=  

η1 
η2 

η

η η

u
100 100= ×

1
1 1

2
2 2 3 3 3

1 1 2 2 3 3

0 8
100

Q t  + Q t  + ,  Q t  - P t

Q t  + Q t  + Q t

s
 

 Arrêt par régulation Q3 = brûleur 
d'allumage 
permanent 

)(600 213 ttt +−=  Ps  

1) Qn peut être la moyenne arithmétique Qa des débits calorifiques maximal et minimal pour les chaudières avec organe d'ajustement aux besoins thermiques de 
l'installation de chauffage 



EN 483:1999/A2:2001/AC:2006 (E/F/D) 

5 

Remplacer le tableau 19 par le suivant: 

Tableau 19 — Notations et expressions des grandeurs nécessaires au calcul du rendement à charge partielle 

Phases de 
fonctionnement du 
brûleur principal 

Débit calorifique 
kW 

Temps de 
fonctionnement 

s 
Valeurs mesurées à 50 °C 

   Rendement 
% 

Plein débit Q1 t1 η1 

Débit réduit Q2 t2 η2 

Débit réduit 
> 0,3 Q1 

Q21 t21 η21 

Débit réduit 
< 0,3 Q1 

Q22 t22 η22 

Arrêt par régulation Q3 t3 Pertes à l'arrêt Ps (kW) 
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Deutsche Fassung 
Tabelle 18 ist wie folgt zu ersetzen: 

 Tabelle 18 — Berechnung des Teillast-Wirkungsgrades 
Betriebsbedingungen Wärmebelastung Zykluszeiten (s) Messwerte Wirkungsgrad (%) 
1 Teillast 30 % Q Q2 n= ⋅0 3,  t2 600=  η2 ηu = η2 

2 Volllast 

n1 QQ =  1) t  Q  -  Q
Q  - Q1

1 3

1 3

180 600=   η1 
u 100η

η

= ×
1

1 1 3 3 3

1 1 3 3

100
0 8 Q t  + ,  Q t  - P t

Q t  + Q t

s
  

 Regelabschaltung 
Q3   dauernd 
brennender 
Zündbrenner 

13 600 tt −=  Ps  

3 Teillast 
n21 3,0 QQ ⋅>  t21 =

Q - Q
Q  - Q 

321

321 600180
  

η21 

100
80

100
332121

3332121
21

u ×=
tQ + tQ

tP - tQ , + tQ s
η

η   

 Regelabschaltung Q3   dauernd 
brennender 
Zündbrenner 

213 600 tt −=  Ps 
 

4 Volllast Q1   Qn 1) t1 =
180 6001 22

1 22

 Q  -  Q
Q  - Q

  η1 

uη

η η

= ×
1

1 1
22

22 22

1 1 22 22

100 100 100
 Q t  + ( ) Q t

Q t  + Q t
  

 Teillast Q Q22 n< ⋅0 3,  t t22 1600= −  η22  

5 Teillast 1 Q Q21 n> ⋅0 3,  t21 =180  Q  -  600  Q
Q  -  Q

21 22

21 22
  η21 

100
 + 

 
100

 +  
100

22222121

2222
22

2121
21

×=
tQtQ

tQ
η

tQ
η

ηu  

 Teillast 2 Q Q22 n< ⋅0 3,  t t22 21600= −  η22  

6 Volllast 

Teillast 

Q1   Qn 1) 

Q2 

t1   Messwert (siehe Anhang Q)  

Q - Q
Q)t -  - (Q)t - (

t
32

3111
2

600180
=  

η1 

η2 η

η η

u
100 100= ×

1
1 1

2
2 2 3 3 3

1 1 2 2 3 3

0 8
100

Q t  + Q t  + ,  Q t  - P t

Q t  + Q t  + Q t

s
  

 Regelabschaltung Q3   dauernd 
brennender 
Zündbrenner 

)(600 213 ttt +−=  Ps  

1) Qn wird ersetzt durch den arithmetischen Mittelwert Qa der maximalen und minimale Wärmebelastung bei Kesseln mit Einstellbereich.  



EN 483:1999/A2:2001/AC:2006 (E/F/D) 

7 

Tabelle 19 ist wie folgt zu ersetzen: 
 
 

Tabelle 19 - Zur Berechnung des Teillast-Wirkungsgrades benötigten Formelzeichen und Größen 

Betriebsphasen des 
Hauptbrenners 

Wärmebelastung 
kW 

Betriebszeit 
s 

Gemessene Größe 
bei 50  C 

   Wirkungsgrad 
% 

Volllast Q1 t1 η1 

Teillast Q2 t2 η2 

Teillast 
> 0,3 Q1 

Q21 t21 η21 

Teillast 
< 0,3 Q1 

Q22 t22 η22 

Regelabschaltung Q3 t3 Stillstandsverluste Ps  
kW 

 
 
 


